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1. ARy = ax® + bx +c GRS E PR, W F5I5 AR A BOTmR ¢ )
(A) a>0; (B) b<0; (C) ¢<0; (D) b+2a>0.
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2. HRIL A GFH 2 N BEALIE, IR RRIER Ty =237, NIERIOMLHFRIE
KA C D
(A) y=2x"+2; (B) y=2x"-2;: (C) y=2(x+2)": (D) y=2(x-2).
3. fEAABCH, «£C=90°, WIFHEERMfRE ¢ )

A sinAzﬁ; (B> sinA:E; «© sinAzﬁ; (D) sinA:E.
AB AB BC AC

4, W, LBt AB 5CDRT A0, FHIMEFEEHE AC/BD H&Z& ( )
(A)OC=1, OD=2, OA=3, OB=4; (B) OA=1, AC=2, AB=3, BD=4;
(C)0OC=1, OA=2, CD=3, OB=4; (D) OC=1, OA=2, AB=3, CD=4.
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5. Wi, [ OA 5 OC ¥k, HOALOB, 4n=0A+O0B, Mn|= ( )
(A) 1; (B) V2 ; (C©) 3; (D) 2.

6. W, £ AABC H1, /B=80°, /C=40°, EHZI| V17T BC, DU HEL L8 A4
ek, Fif3 B2 0383 AB AT AC T55 M« N, # AAMN FI AABC AL, Wi e D
(A) 20°; (B) 40°; (C) 60°; (D) 80°.

A A

=, EEE (KXKEIL 128, S8 45, W 484
[BEREREEENESGRNAHNAIE ]

7. Bla. b. ciedoR_C parb_
3 4 6 c-b

8. WK, AD. E. F &t AABC =i F, Wi DE/BC, EF/AB, WH
AD:DB=3:2, 4 BF:FC=
0. ELAT IR e g W RL i, L n 5 0 e F7 M, KRR 3, IR A i B n =

GEGE 2F
10. &1 AABC» ADEF , HhTiis AL B CAORIXIMNTAA D, EV F, W% 2A=140°,
Z/E=60°, Hl4 ~£C= .

11, EH8iMAa, Wltana=2, NWsina =
12, S S B AT A AJLIRA 300 J71A], 5 C AT AJbfwiE 30° 5k, H AB=AC=8T

K, WA

BC=_ Tk

13, B KRB G O R, HIEEGIAA T 58— R R, 15 H— N E LR
1 Y€ T W (Fr N y=a(x+m) +k KL

14, CAP L y = ax® + bx+ ¢ FF L) b, — 2 PAT T x Sl B IIZE T M o N iR,
MMALBMN KR L ) FPRemAE . G “R” 80 “hD

15. W, #E DEFG )il EF 7 AABC HJiZBC L, T D. G 4 5fEiL AB. AC L.B&2
HMIAC=6, AB=8, BC=10, W EF =x, 5/ DEFG WA ANy, My kT x FIREL AR
AN CAE e 3 .
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16. K, £ AABC 1, ~C=90°, BC=6, AC =9, ¥ AABC T & C iz T AABC
RO G 4k, NP G TS = A 5 R AABC FIE S35 /7 H A & .

B
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G
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17 W, & E N ABCD I BC F—4i, S F 7RI CD K2 I, EF 5 ACX T4 0,
¥ CE:EB=1:2, BC:AB=3:4, AELAF, NICO:0A= )
18. i, “FiH F-t4AEA.B.C.D.E.F.G, B rfrELKHEE, N cos /BAF

( #F174) c
( #1880

= REB (RRBIE 7, W 784
19, CAEH 4 10 40

115: 2cos?30° +ﬁ—sin 60°.
tan30°+1
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20, A 7 10 73)
FARC A Ry = —2x° +6x+ 416 y =a(x+m) +k BT, F46 % m SR IG 1T
FUJ5 1) R PRl A T AL AR

21, A4 10 73

i, £ AABC H, ZACB=90°, AC=4, BC=3, DU ACIHF i, CELBDZX AB
THE.

(1) >R tan ZACE ;

(2) 3k AE:EB. B

22, (AL 73 10 43)
i, B AB L1 2.4, K AB =130 K, H AB {4 BT E3 AB I IETHIA —HRg
FPICH . MH. A, TR ML MN L.
(L Wi AB 11 BT AEK?
(2) HHNAETE AB FOBLI A AR 55 D &b, WIS AT C KA £ 433 60°
30°, WREFMEECH . GEHIEIK, V3~173, J2~141)
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23, (AR@H 45> 12 53
i, BD & AABC HIfA Pk, mENTILBC L, B4 BD&BAL BE HILL] A 1.

(1) SRiE: zCDE=%4ABC

(2) 3RiF: AD-CD=AB-CE

24, (A 7> 12 73
TEFTH B A AR R xOy H, WFRREA LR x =L IIPILZE y = ax® + bx +8 i £ (-2,0)..

(L Kypmmziks, IFE HIH T A

(2) DA ULIIERIE y J7 PR TS0 AL, P& et D, 5y MilZE A8 B,
5 x G EAE TR A, i R B AR x BT AT R TSI & T AL C . 35 AC/BD, iR
¥ J5 s ) 2 it 2k =X
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25. (A7 14 73)

N, LBt AB=5, AD=4, £A=90°, DP/AB, i C N4tk DP F—4i, BE V-4 LABC
LB AD TR E (CRb5uisi AL DEA) .

(1) 4 /ABC N%iffi, Htan Z/ABC =21}, >RPUITE ABCD [HTHIA ;

(2) * AABE 5 ABCE MR, REZECD K

(3) ®#DC=x, DE=y, Ry XT xRN, F5HE L.
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1-6. DCBCBB
.0 .32 9. -3% 10.8 11 % 12. 8
12, 24 11 5
13. =— X—12+1 14. K 15. :——X2+—X 16. 3 17. — 18. —
y==(x-1) y==25% *35 30 6
19. 3-+/3

2
2. y=-2(x—§j4ﬁj,;ﬁﬁ¢mx=§,a?uﬂ?ﬁ]ﬁﬁ(ﬁﬁlj
2) 2 2 2’ 2

21, (D % (2) 8:9

22, (1) 50 K; (2) 89K
23, (1) UEHAmE; (2) iEHmE
24, (1) y=—x"+2x+8, Tixi(L9); (20 y==x"+2x+3

41-5x—5x*-10x + 41 41
= 1 O<x<—

25, (1) 16; (2 ZEEE; 3y
5 10
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